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HIR A RIRERER = (100 & + 300 EB)*1% =4 &
RIIRIREEE=48-28=28
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HERMEE =2,000 £*6/1,000=12 &
EERME =1,000 £*2/1,000=2 &
FERIZPRE =500 &*2/100=10 B
RERELFR=12B+28+108=148
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B A H=720*200+500*200=144,000+100,000=244,000
SHHTEEE F=244,000/8=30,500
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BRI E 20% 35% 45% 45%
HEBM 750 8§ 550 & 900 & 1,200 B
-BAR -~ B 500 & 600 & 1,000 & 1,000 B
= BRSNS 250 &8 50 8 -100 8 200 8
-BIER ( BFEEMERE) -100 &
- ( BFEEAERE) 50 &
AT ERERSBRNFERHIRER 0 0

= RMFTSEIER 250 & - - 50 &
TR E AR BIRR 05 208
SRR TR B AR 308 208
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